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AZNT =T NVIER 1knY 720 sk 2 (=) 142,309 M km
ABZNGT =T NVIER 1 knY 72 0 fEf ka2 (FKHR) 136, 773 M km
ABNVT =T NVIER 1 knY 720 ik te 2% (ILER) 142, 309 M km
AZNT =T VIER 1kmY 720 ik fr 2 (55 E) 144, 524 M km
ABZNT =T NVIER 1 kY 72 0 ik e 2% (R 151, 167 M km
ABZNT =T NVIER 1knY 720 figgk k2% (HAR) 149, 506 M/ km
ARV =T VIR 1T kn 72 ) fi gk k2% (BERSIR) 147, 292 M km
AZNT =T VIER 1km 72 0 figkfr &2 f (B EER) 157,810 M km
AZNT =T NVIER 1knY 72 b sk 2 (TER) 163,900 M km
ABNVT =T VIER 1 km¥ 72 0 Sk R 28 (L) 175, 525 M km
ABZNT—=TNVHERE 1knY 720 aekfRe® (FEJIR) 164, 453 M km
AZNT =T VIER 1kmY 720 sk 2 Corik ) 141, 756 M km
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AZNVT =T VIER 1 kn 72 0 fi sk fr 2% (5 11IR) 147, 292 M km
AZNT =T NVIER 1kmY 72 0 ek fr 2% (A1) 152, 274 M km
ALV =T NVIER 1 knY 72 V) [ gk fr 2 (8 JF %) 147, 292 M/ km
AZNT =T VIER 1km 72 0 sk fr 2% (ILFLER) 161, 685 M km
AZNT =T NVIER 1knY 72 b xRk ae® (REFER) 150, 060 M km
ABNT =T VIR 1k 72 0 Mgk ik 2 (6 BIR) 151, 720 M/ km
AZNT =T NVIER 1 km 72 0 ek 2% (5 ) 157,810 M/ km
AZNV— T VIER 1 kmY 72 Y fi ek pr g () 152, 274 M/ km
AZNT =T NVIER 1kmY 720 ik fr 2% (ZHEIR) 151, 720 M km
AZNT =T NVIER 1 kmY 72 0 Miek fr 2 (A R) 149, 506 M km
AZNT =T VIER 1 km 72 0 ek fr 2 (JLHE ) 147, 292 M km
ABZNT =T NIER 1k 72 0 fi gk k&% (KRBT 153, 381 M/ km
AZNT =T NVIER 1knY 720 sk 2% (JER) 150, 060 M km
ABZNT =T NVIERE 1knY 720 ik ket (RRE) 149, 506 M/ km
AT =T VIER 1 kY 7o 0 S gk e 2% (CFnak il &) 147, 292 M/ km
ALV =T NVIER 1 knY 72 V) Sk fr 2% (5 HUUR) 136, 219 M/ km
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AZNT =T NVIER 1 kmY 72 0 fik e 2% (BRI 135, 666 M/ km
ANV =T VIR 1 knY 72 0 figk R g (10 R) 142,309 M./ km
AZNT =T NIER 1 knY 72 0 figk e 2% R ER) 136, 773 M km
AZNVT =T )VIER 1TknY 20 gkt 2% (LA &) 138, 434 M km
ABNVT =T NVIER 1knY 720 gk ftr 2% ((EER) 143, 416 M km
AZ N =T NVIER 1 kmY 72 0 ik k22 (F)IR) 142, 863 M/ km
ABNVT =T NVIER 1 knY 720 ik e 2 (R 140, 648 M km
ALV =T )VIER 1 kn 72 V) Sk fr 2% (& 0 0R) 140, 648 M/ km
ABZ N =T VIER 1 kmY 7o 0 S ek e 2 E (8 B 141, 202 M km
AZNT =T NVIER 1 kmY 72 0 ek fr 2% (3 E) 139, 541 M km
AZNT =T NIER 1 knY 72 0 figk e 2% (RIEER) 134, 559 M km
AZNVT =T )VIER 1 kn 72 0 ik fr 2% (AEARR 134, 005 M km
ABZNT—=TNGER 1 knS 720 sz fr 28 (KoK 131, 791 M km
AZNT =T NVIER 1knY 7= 0 ek fr 28 (i) 129,576 M km
AENVT—TNVIER 1knY 720 ik fr 2 (EIREER 131, 791 M km
ABNVT =T VIER 1 knY 720 ik e 2% (PP R) 125,701 M km
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MAZNr — T VIER 1 km 72 0 st 2% (biEE) 29, 320 M/ km
MARKr — 7 VIERE 1k 72 0 i ik 28 (FHE) 27, 729 M/ km
FHT—TNVEER 1 kn 72V ik 2E CaFIR) 28, 752 M/ km
RN =T NIER 1 knY 72 0 fa gk R 22 (IR 29, 207 M/ km
RN =T NIER 1 knY 72 0 fa gk R 2% (BKHIR) 28,070 M/ km
R — T VIR 1 knY 72 0 ik ke (LER) 29, 207 M/ km
R —TNVIERE 1TknY 720 k2% (BEE) 29, 661 M km
RN =T NVIER 1T kmY 72 0 ik R 22 (IR 31,024 M km
BT =T NVIER 1T kn Y 72V sk R e®E (A R) 30,684 M knm
RN =T NIER 1Tk 720 figk itk 2% (FEEIR) 30, 229 M/ km
R — T NVIER 1k 72 0 ik fr 2% (B ER) 32,388 M km
RN =T NIER 1 knY 72 0 gk k2t (THER) 33,638 M/ km
RN =T NIER 1 knY 72 0 fa gk PR 22 (R HD) 36,024 M/ km
R — T VIR 1 knY 72 0 Mgk (MR 33,751 M/ km
R —TNVIERE 1 knY 72 0 sk 2% (CiEE) 29,093 M km
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MAZRr — 7 VIER 1 kmS 72 0 fi g%t 2% (& LIR) 30, 229 M/ km
MAZNr — T VIER 1 km 72 0 s e 28 (5)111R) 31, 252 M/ km
AR — 7 VIER 1 km¥Y 72 0 fi sk AR 22 (18 H R) 30, 229 M/ km
MAZRr — T VIER 1 km¥Y 72 0 gk it 2% (lLELIR) 33,183 M/ km
MARKTr =7 NVIEE 1knY 720 asxfr2®E (KEFER) 30, 797 M/ km
AR —7 VIEE 1 kn¥Y 72 0 fi gk fr =g (I & R) 31,138 M km
MAFRN T =T VIR 1 kn 72 0 fa gk 28 (R R 32,388 M/ km
IR — 7 VIER 1 kY 72 0 Jii s Pr =8 (25 R 31, 252 M/ km
MARNTr =T VIR 1 knY 720 fisxfr 2 (ZHE) 31,138 M/ km
MR — 7 VIER 1 kms 72 0 Jiii 3% O 4 % 30, 684 M/ km
MAZRN T =T VIR 1 kn 720 sz fr 2% (OLEAT) 30,229 M/ km
MAFZRN T =T NIERE 1 km 720 sz fr 2% (KBRAT) 31,479 M km
IMAFRIEr — 7 VEER 1 km 7= 0 B 5% £f 2 & 30, 797 M km
MARN 7 — 7 WVIER 1 km 72 V) fii 5% fr & & 30, 684 M,/ km
MAZH T =7 VIER 1 kX 72 0 JEak R 2% (Foak &) 30, 229 M/ km
R —TNVIEE 1 knY 720 ik 2% (BEUE) 27,957 M km
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AR — T NVIEE 1 knYS 720 ik k28 (BRIE) 27, 843 M km
MR — T IVIER 1 kmY4 72 0 Jifg g% 2 2 & (i (L 1% 29,207 M/ km
MAZRNTr =T VIR 1 km 720 fisxfr 2% (L&) 28,070 M/ km
AR r —7 VIEE 1 km¥Y 72 0 e sk fR 2% (bn &) 28,411 M/ km
MMAZRIr — 7 Ve R 1 kX 7= 0 gk e 2% (85 R) 29,434 M km
MARIEr — 7 VIERE 1 knY 7= 0 figk k2% (F)IE) 29, 320 M km
MAFRN T =T VIR 1 knY 72 0 gk 28 () 28, 866 M/ km

IR — 7 VIER 1 knY 72 0 i sk Pr =% (5 & R 28, 866 M km

MRy — 7 IVIER 1 kmY4 72 0 Jitg g% 2 & (8 ) 1) 28,979 M/ km
MAZRr — T VIER 1 km 72 0 gk it 28 (R IR) 28, 638 M./ km
MARN T =T VIR 1 knY 720 fisxfr 2% (KIRE) 27,616 M/ km
MAFZRN T — 7 IVIER 1 kY 72 V) Hi 5% Pk 2 & 27,502 M km
IMAFRIEr — 7 VEER 1 km 7= 0 B 5% £f 2 & 27, 048 M/ km
MARN 7 — 7 WVIER 1 km 72 V) fii 5% fr & & 26, 593 M,/ km
MARIN A7 — T IVIERE 1 km4 7= 0 B 5% £f 42 & 27,048 M/ km

R — T NVEER 1 kmY 72 0 i 5% PR A 25, 798 M/ km
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N S AV ) NE BEIE WU T S 2568| M/ [\I#R
FE R — VIR 1 km¥ 72 0 fE sk A (dbiEiE) 181, 797
kRN — 7 VIER 1 km 72 0 Rk e 2 (FARR) 171, 841
kRN — 7 VIER 1 kmY 72 0 fEsk R 28 Ca T IR) 178, 242
FRERIE S — 7 VIER 1 km 72 O Jii 5% O 2 181, 086
FRERE =T AIER Tk 72 0 gk R 2% (BkHR) 173,975
FRERE S — T VIERE 1 kS 72 0 fEik R 2 ® (L R) 181, 086
FRERIEr — 7 VIER 1T km 72 0 sk fr 2% (18 5 R) 183,931
FRER N — T VIER 1 km% 72 0 g PR 28 (R R) 192, 465
FRER N — 7 VIER 1 km% 72 0 sk R 2% (FFKR) 190, 331
kRN — 7 VIER 1 km¥Y 72 0 sk R 2 (BEEIR) 187, 487
FRERNE S — T VIER 1Tk 72 0 sk R 2% (B EIR) 200, 999
kRN — 7 VIER 1 kmY 72 0 sk R 2 (FHER) 208, 821
FRERE S — T VIER 1 k¥ 72 0 gk PR 2 (R AUER) 223, 756
FRERIEr — 7 VIER 1 km 72 V) Jii 5% Ok 2 209, 532
FRERE S — T VIER 1 k¥ 72 0 sk R 2 CGIig &) 180, 375
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FRERE T — T VIR R 1 kY 72 0 fEik R 2 ® (F 1LR) 187, 487 M/ km
HERE T — 7 VIER 1 knY 72 0 ek R 28 CAJIER) 193, 887 M/ km
FAkRE s — T VEER T kmY 72 0 R R AE (I R) 187,487 [/ km
FHERE T =T VIER 1 knY 720 Esk e 2% (ILFLR) 205,977 M/ km
kRN — 7 OVIER 1 kmY 72 0 sk R 2T (EBHR) 191, 042 M/ km
kRN — 7 OVIER 1 kmY 72 0 Mk (R 2 (B IR) 193,176 M/ km
kR — 7 OVIE R 1 kmY 72 0 fE e AR A2 (i B 200, 999 M/ km
FRERE S — T VIER 1 k¥ 72 0 sk R 2 (5 R) 193, 887 M km
FRERE T — T VIER 1 knS 72 0 fEsk R 2B (ZHIR) 193,176 M/ km
FRERE T — T VIER 1 knY 72 0 fE sk R 2 (A R) 190, 331 M km
kR — T VIER 1 kS 72 V) fE R R A2 (RUED ) 187,487 [ km
kR — T VIER 1T kY 72 V)RR R 2R (KBRM) 195,309 [, km
kR — 7 OVIER 1 km¥Y 72 0 sk R A2 (L IR 191, 042 i/ km
PRy — 7 VIER 1 kY 72 0 sk k28 (KER) 190, 331 M/ km
FRERE T — 7 VR 1 knY 72 0 sk fe 2% (Foak 1L R) 187, 487 M/ km
FRERE S — T VIER 1 k¥ 72 0 sk R 2 (5 BUR) 173, 263 M km
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HkR T — 7 VIERE 1 knY 72 0 Esk R 2 (BRI 172,552 M/ km
FRERE T — T VIER 1 kY 72 0 fE xR 2B (10U 181, 086 M km
kR — T VIER 1T kmY 72 V) MR R A2 (K5 IR) 173,975 [ km
FHERE T =T VIER 1 knY 720 Eek R 2% (1A R) 176, 108 M km
kR — 7 OVIER 1 km¥Y 72 0 fE sk R 2 (FE R IR) 182, 509 M/ km
FRERE S — T VIERE 1k 72 0 iR 2E (FJR) 181, 797 M km
FRERE T — T VIERE 1 k¥ 72 0 fE ik R 28 (BER) 178, 953 M/ km
FRERE T — T VIER 1 k¥ 72 0 sk R 2 (& & R) 178, 953 M/ km
FRER N — 7 VIER 1 km% 72 0 i g PR 2 (43 i ) 179, 664 M/ km
kRN — 7 VIER 1 km¥Y 72 0 kR 28 (B R) 177,530 M/ km
kR — T VIER 1T kS 72 V) R R A (R R) 171,130  FMkm
FER N — T OVIER 1 km¥ 72 0 ek k2 (REARIR) 170,419 M km
FEZRE T —T7 VIR 1 knYY 72 0 sk 2% (Ko E) 167,574 M/ km
PR — T OVIER 1 kmY 72 0 kR 2 E (F IR 164, 730 M km
FREREr — 7 VIER 1k 72 0 a sk Pr % (B & I 167,574 M/ km
FRERE S — 7 VIER 1 km 72 0 fil g fR 2= (PR IR 159, 751 M km
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WIEX 7 — 7 VIER 1 knY 72 0 fasx k2% (dbifEiE) 337,192 M/ km
MWE =7 VIR 1 kn 72 0 sk e 28 (FHR) 318,161 M/ km
MK r — 7 VIER 1 kn4 72 V) Mgk R 2% 8 F1R) 330,395 M knm
WBEC 7 — 7 VIER 1 km 72 0 Mgk fr 2% (& 3 R) 335, 833 M km
WYy — 7 VIER 1 km 72 0 S gk R 22 Bk EIR) 322, 239 M/ km
WK — 7 VLR 1 kS 72 0 Mgk k2% (LB R) 335, 833 M/ km
WMIECr — 7 VIER 1km 72 0 ik 2 (85 F) 341, 270 M/ km
WIEr — 7 VIER 1 km 72 0 Mgk fr 2% (KIIE) 357, 582 M km
MGy — 7 VIR R 1 km2Y 72 0 fi s pr g (W5 R 353,504 M/ km
MK — 7 VIR R 1 kmY 72 0 M s fr =2 (REIS IR 348, 067 M/ km
MK r — 7 VIER 1 km4 72 V) MRk R 2% (B ER) 373,894 M knm
WENX T — 7 VIER 1kn Y72 0 ik k2 (THER) 388, 847 M km
WIEr — 7 VIER 1 kn 72 0 sk R 2% (HRH) 417, 393 M/ km
MG — 7 VIE R 1 kmX4 72 0 gk R (4RI IR) 390,206 M km
WMIECr — 7 VIER 1km 72 0 sk R 2% s lR) 334, 473 M km
WMIEr — 7 VIER 1km 72 0 sk fr 2% (& ILE) 348, 067 M km
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MGy — 7 VIR R 1 km 72 0 s fr =% CAITR) 360, 301 M/ km
WMEC 7 —7 VIER 1 km 72 0 sk fr 2% (8 1) 348, 067 M km
WBEXC— 7 VIER 1 km 72 0 sk fr 2% (ILFLR) 383, 409 M/ km
WIEN 7 — 7 VIER 1 kmY 72 0 fi sk R 2 (KRB IR) 354,863 M km
WEIEE 7 — 7 OVEER 1 kmY4 72 0 B g% R 2 (i BR) 358, 941 M/ km
WIS — 7 VIER 1 kmY 72 0 MRk PR A (i ] IR 373, 894 M/ km
WS r — 7 VIER 1 kmY 72 0 [k PR 2% (i) 360, 301 M km
WMIEr —7 VIER 1kn 72 0 ik fr 2% (ZHEIR) 358,941 M km
MK — 7 VIR 1 kn 72 0 s fr 8 (RHEIR) 353,504 M/ km
WMECr —7 VIER 1 km 72 0 Misk fr 2% (L) 348, 067 M km
MR — 7 VIER 1 km 72 0 S sk R 28 (CRIRUM) 363,019 M km
WIEN 7 — 7 VIER 1 knY 72 0 fa sk k2 (S i R) 354, 863 M km
WKy — 7 ViR 1 kn 72 0 gkt 2 (KRR 353,504 M/ km
MR — 7 VIR 1 km 72 0 Mgk k2% (Fnacl &) 348, 067 M/ km
WIEN 7 — 7 VIER 1 kn Y 72 0 i k2t (5 HIE) 320, 880 M km
WK — 7 VIER 1 knY 72 0 fEX R 2E (BRE) 319, 521 M km
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WEIRY 7 — 7 VIER 1 km 72 0 S sk R g (fi 1l 1R) 335, 833 M/ km
WXy — 7 VIER 1 km 72 0 Mgk PR 2 (8 B IR) 322, 239 M/ km
MR — 7 VIER 1 kmX 72 0 fsk R 2 (1L 1) 326, 317 M/ km
WBEXC 7 — 7 VIER 1Tkm 72 0 sk fr 2% ((85R) 338, 551 M km
MR — 7 VHER 1 km¥4 72 0 sk R 2 (FIR) 337, 192 M/ km
WISy — 7 VB R 1 km 72 0 Mgk R 28 (R IR) 331, 755 M/ km
W r — 7 VIR R 1 kY 72 0 gk R 2% (& ) 331, 755 M/ km
WIEN 7 — 7 VIER 1 kn Y 72 0 e s k2% (@ [ &) 333,114 M/ km
MEr — 7 Ve R 1k 72 0 fi sk e 28 (EEIR) 329, 036 M/ km
MR — 7 VIER 1 km 72 0 fi sk I 2 (KR IR) 316, 802 M/ km
MR — 7 VIER 1 kmY 72 0 S sk R 2 (BEARIR) 315, 443 M/ km
MR — 7 VIER 1 km 72 0 S sk R 22 (K4 IR) 310, 005 M/ km
WIEr — 7 VIER 1 kmY 72 0 sk R 2% (= IR IR) 304, 568 M/ km
WK — 7 VIER 1 km 72 0 S gk fr 22 (BB S I) 310, 005 M/ km
WIEN 7 — 7 VIER 1 kn Y 72 0 fa sk R 2% (Fh#RR) 295, 0563 M km
B R km 72 ) 62,573 M/ km
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BEREREknY 7=

62,573

I HEEknY 720

62,573
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Hig A EBERknG 729

62,573

7B R e [F] 1 A e km S 72 )

62,0573

0.04650
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0.01823

0. 1505

e (R

-15.827 = A |

R (— AR

. 04257

(Hh e 22 ) it

. 04348

(A BRER) T A BRI AE R km 2 72 0

7,023

(i AR ) T PR S SE e km2 72 V) i 3%

1,426

R N B it 45 8 L K

. 02473

HH 568 P A 000 G 7 1 4 7 R4 8 A R

. 01823
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17 G5 1) i 3R PR A B b B B R L R 0 —
P B R OY 46 18 Ji 7% R 4 B b 4% B B R 0 —
L i @ PR A B R 4R A b R 0.03551 —
TR 28 F K OV o i 53 x4 B b #5840 b R 0.002284 —
mIEEEEE (ZHEHEY 7 by =7) k2B & m g 0 —
M EE PE (Z O oo B E EE PE) ek ke B R E L 0 —
AL 1 AR M VAR S R 357 N
BT kmY 72 0 E RS A R 39,612 M/ km
ORI 1 kmY 72 0 OE B S B 395, 248 M/ km
& D 1 kmY 72 0 E B S R 808, 229 M,/ km
A Y7 21 kmX 72 v 58 B 5 AR 4,254 M/ km
BB A B 1 km 72 0 38 B 5 AR 4,254 M/ km
B EE 1 kmY 72 0 B S B R 4,254 M/ km
TR RN AL E 1 B 7 0 AR R 61 M/ &
= P AR AR s R [B] R AR Bl R 0.5 —
I — 7 b R s A i R [B] R AR B =R 0.5 —
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R Bk R D 0 25 e ) oer B¢ 4 Tl 0.002499 —
T b M B 25 B T k) e R L R 0.006491 —
T PR S 25 e T RS e R b R 0.002060 —

R R i 12 B R OB R EE R 0.000878 —
A i R 38 B 36 R K 2% B e RO R B R 0.002499 —
MR B e i R R R 0.001270 —
YR B R E R R 0.002144 —
PR M OV 1 i B P b B R B R 0.000529 —
B R B ek & R B R 0.0004418 —
T H & B M OV o 1 25 Fe 0 o $5¢8 BR HE R 0.0008911 —
BRI SUNER =S 0.03806 —
1 [E]# 2 7o 0 £ e B = 5 0| M./ [=l#k
1 [E1#R 2 72 © = R B ot B e = 5 2 0 M./ [=l#
1 [BI#R 24 72 0 5[] 48 PO e B 3,530| M/ [E]#
e Ik A b R 0.1504 —
PR R RS AR 2K 200 —
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B R 52 M 25 B 4 4K 672 [
i AR e A2 #a [] H EE 1) b R 0. 1496 —
Hh ik R A2 R 18] K b ) Bl SR 0.2999 —
% 5 B T AR 4K
A% a1 28 =3
Jry 5% T8 15 P I 2 4 & 24.9 s
JRy 5% 1B T S 1o PR N % 4 13.5 S
{mik 4 iE 21. 7 Ge
& R R U A A 13.5 4
IR LB 9 i
W 15 i 2 5% 9 s
BRoe X 2 vl — T v 29. 1 =3
P AX VT —T )L 38. 4 eSS
be BZRZES T — T L 17.6 G
e L e — T v 23. 7 4
MIESr— 7 L 26.5 3

-32-



AT 21.2 g8
ok 60. 5 23
HoR R 60. 5 G
& 9 75 4
I 7] 9 75 4
7B o e 7] 1 60. 5 4
T T 24.3 A
THE R K £ 24.3 4
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